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Basic Electronics

RRB Previous Year Questions

Basic Electronics

RRB : JUNIOR ENGINEER

Main element of a filter circuit that reduces
the A.C. component in the output is
(a) resistor (b) inductor
(¢) transformer (d) capacitor

[RRB JE 2014]
Which is NOT correct for oscillators.
(a) Signals may be sine wave
(b) Signals may be square wave
(c) Signals may be Half Sine wave

(d) Signals broadcast by radio transmitters are
example of oscillator signals

[RRB JE 2014]

Theoretically, a bridge rectifier has a maximum
efficiency of

(a) 84%
(c) 82.2%

(b) 48.2%
(d) 81.2%
[RRB JE 2014]

A frequency tuning electronic circuit would
consist of

(a) an inductor and a capacitor
(b) an inductor and a resistor
(¢c) two inductors
(d) two capacitors
[RRB JE 2014]
For stabilizing the gain of an amplifier
(a) Positive feedback is used
(b) no feedback is used
(c) negative feedback is used
(d) input voltage is varied
[RRB JE 2014]

1.

flheey gRUY &1 I dd Gl 3MSCYe &
AC. 9CH Bl ¥ Il B, T8 B

(a) UfRIE (b) W
(c) STIBIR (d) HenR=
[RRB JE 2014]
S clfers @& forg w8 T8 & 7
(a) Hpd ST I B Hahd ©
(b) Gbd TMHER T 8 Hbd o
(c) Hdbd € ST T 8 Ahd B

(d) A ¢RI’ N1 TIRA Adbd  Qlfers

Hbd ISV B

[RRB JE 2014]
U5 w9 ¥4, Uh ug e & Qe
(@) 84% (b) 48.2%
) 82.2% (d) 81.2%

[RRB JE 2014]
U A YT Selag i aRuer ¥ e
gId1 T —
(@) Th Wb IR Udh Fa
(b) TF Wb AR Udh Tl
(c) T Wb
(d) <1 iR

[RRB JE 2014]
Uh Tie B ofer & Wl " & fou
(a) oFTH® fhedd &I ST fhar oar &
(b) B3 fhsdd SYIRT F8) fwar STl
(c) FoTH® fhedd &1 ST fhar orar &
(d) 3Yc diecsl &I yRafdd fear Smar @
[RRB JE 2014]




10.

11.
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Which of the following Amplifiers produces the
least distortion ?

(a) Class A
(¢) Class AB

(b) Class B
(d) Class C
[RRB JE 2014]

By which of the following, the intrinsic
semiconductor Silicon should be doped in order
to obtain p-type semi-conductor?

(b) Phosphorous
(d) None of these
[RRB JE 2014]

Flow of electrons in circuit constitutes

(a) Boron
(¢) Gallium

(a) Magnetic charge
(b) an e.m.f
(¢c) an electric current
(d) an electric charge
[RRB JE 2014]

Figure shown below represents a

Emitter Collector

Base
(b) Zener Diode
(d) PNP Transistor
[RRB JE 2014]

An element whose atoms have three valance
clectrons, the example of such clement is

(b) Copper
(d) Aluminium

[RRB JE 2014]

(a) a power diode
(¢) NPN Transistor

(a) Silicon

(¢) Germanium

A tunnel diode is

(a) High-resistivity P-N junction diode

(b) A slow switching device

(c) An amplifying device

(d) A very heavily doped P-N junction diode
[RRB JE 2014]

6.

10.

11.

frafeRag & 9 &9 91 yEle A9 o9
fapfa a1 ovar 2

(a) T A
(c) =il AB

(b) &ft B
(d) ol C

[RRB JE 2014]
Y& f—arerd RfddA &l P-USHR sei—ardd

g dRd & forg #ifeq fear orar © °

(a) IR (b) BIRBRA

(c) Tiferam (d) SWIad H ¥ Bl 8l
[RRB JE 2014]

qRuer # seldgEl & Yarg 9 HT B §

(2) gafa smaw

(b) § v TH

(o) faga &1

(d) forega o

[RRB JE 2014]
a0 fewmr mr ' g —

Emitter Collector

Base
(a) U wdd SRS (b) SR SIS
(c) NPN gifiSee®r  (d) PNP gifoTeex
[RRB JE 2014]
T dcd forad dF Faioll soideid 8Id 8, U0
dw & S &

(a) fafereta (b) TT&T
(c) SR (d) vgfafaw

[RRB JE 2014]
Th G SIS '

(a) S URREGAT P-N SidRM SIS
(b) U €T RAfT IYEHRoT
(c) U i SURRT

(d) T §gd 9N #ifad P-N SideM SRS |
[RRB JE 2014]
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12.

13.

14.

15.

16.

17.

18.

Depletion layer is found in
(a) P type semiconductors
(b) N type semiconductors
(c) diodes
(d) intrinsic semiconductors
[RRB JE 26.08.2015]
The energy gap in a semiconductor is
(b) infinite
(d) the order of 1 eV
[RRB JE 26.08.2015]

(a) zero

(c) very high

BIT stands for
(a) Binomial Junction Terminal
(b) Bipolar-Junction Transistor
(¢) Binomial Junction Transistor
(d) Bipolar Junction Terminal
[RRB JE 26.08.2015]

Avalanche breaks is primarily dependent on the
phenomenon of

(b) Collision
(d) Recombination

[RRB JE 26.08.2015]

(a) Doping

(¢) lTonization

A UJT contains
(a) 4 pn junctions
(b) 3 pn junctions
(c) 2 pn junction
(d) 1 pn junction
[RRB JE 26.08.2015]
The flow of current in solids is due to
(a) electrons (b) electrons and ions

(d) atoms and nucleus

[RRB JE 26.08.2015]

(c) atoms

Most commonly used control element in voltage
regulators is

(a) BIT
(c) FET

(b) UIT
(d) SBS
[RRB JE 26.08.2015]

12.

13.

14.

15.

16.

17.

18.

(a) P TI3U JrgaTald
(b) N TIRU Irgarctd
(c) SRS
(d) = SaraD
[RRB JE 26.08.2015]
eIl H Foll el g,
(a) 3 (b) 3=
(c) 980 ST¥IdH (d) 1 eV @ dife &1 T
[RRB JE 26.08.2015]
BIT & foxgd ®9 © —

(@) fgue —Sided cfi=d
(b) feegdt — ofeer gifSreR
(c) gugs — SRME gildrey
(d) g — Sigem cfiar
[RRB JE 26.08.2015]

UdeTel shesd 9 § 9 o9 9 Uch W
T w9 ¥ R g @

(a) ATGH (b) TP
(c) SMmTERYT (d) GRIITSI

[RRB JE 26.08.2015]
Udh UJT |

(@) 4 pn SId=E B T
(b) 3 pn ST BId B |
(c) 2 pn SfaeE B T
(d) 1 SiaeM BT B

[RRB JE 26.08.2015]
o H URT BT ydI® P BRI BT T
(@) Seldgil OESEFRIRCINECIRE]
(c) U=ATOLRAI (d) IRHTURIT SR TR

[RRB JE 26.08.2015]

drecol Ramel § 9m= IR fFRiEer 99 &
w0 ¥ fhaer Suanr fear omar ®
(@) BIT (b) UIT
(c) FET (d) SBS

[RRB JE 26.08.2015]




20.

21.

22.

23.

24.

25.
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How many electrons are there in the valence
shell of a pure semiconductor ?

@) 1 (b) 3
(c) 4 (d) 6
[RRB JE 26.08.2015]

Which of the following is not a nonlinear
element ?

(a) GaAs diode
(¢) Tunnel diode

(b) Heater coil
(d) Electric arc
[RRB JE 26.08.2015]

Which of the following is known as metal
rectifier?

(a) Selenium disc rectifier
(b) Copper oxide rectifier
(¢) Gas tube diode
(d) Varactor diode
[RRB JE 26.08.2015]

For full-wave rectified sine wave, form factor
1S

(@) 1.41
() 1.5

(b) 1.11
(d) 1.25

[RRB JE 26.08.2015]
Electron pair bonding occurs when atoms
(a) lack electrons
(b) lack holes
(c) share holes
(d) share clectrons

[RRB JE 26.08.2015]

In a P-type semiconductor, minority carriers are
(a) holes
(c) dopants

(b) electrons
(d) atoms
[RRB JE 26.08.2015]

Which of the following is a pentavalent
material?

(b) boron
(d) silicon

[RRB JE 26.08.2015]

(a) carbon

(c) phosphorus

19.

20.

21.

22.

23.

24.

25.

Uh & SGdIedd & Aol SR ¥ fha
gAGIT BId ©
@1
(c) 4

(b) 3
(d) 6

[RRB JE 26.08.2015]
fr=falRaa # @ o9 91 aRRad d@ F81 27
(a) GaAs SRS (b) BIex Eg”@?ﬁ
(©) ed =R (d) fagd sme

[RRB JE 26.08.2015]

ffaRad § 9 fed ag R & w9 #
ST Sar & 2

[aY

(a) Heif M o faedrl

(b) PR IAFAES BRI
ORI
(d) RFex SRS

[RRB JE 26.08.2015]
gof T [AeHR 1 T & oY ®4 dRE
g
(@) 1.41
(c) 1.5

(b) 1.11
(d) 1.25

[RRB JE 26.08.2015]
Soldgid Siiel STde Td BT & o1 URATIRIT
g —
(a) SoAacid @ B B B
(b) Bl & A BT ©

(c) BT Bl TS R B

(d) SoiaeEl B AR WX §

[RRB JE 26.08.2015]
P-UhR Jldlaid ¥, Ud dled B ©
(a) e (b) geide
(c) sIde (d) G=HTg

[RRB JE 26.08.2015]
FfRed § 9§ SH—1 U daeal geref 87
(a) Prad (b) IR
(c) BB (d) Taferamta

[RRB JE 26.08.2015]
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27.

28.

29.

30.

31.

Basic Electronics

Another name for a unity gain amplifier is
(a) difference amplifier
(b) comparator
(c) single ended
(d) voltage follower
[RRB JE 26.08.2015]

At room temperature, the current in intrinsic
semiconductor is due to

(a) holes
(b) electrons
(c) ions
(d) holes and electrons both
[RRB JE 26.08.2015]

In a mercury arc rectifier, characteristic blue
luminosity is due to

(a) high temperature
(b) electron streams
(c) ionization
(d) color of mercury
[RRB JE 27.08.2015]

Which of the following rectifiers can withstand
maximum voltage on DC side

(a) Mercury bulb rectifier
(b) Glass bulb rectifier
(c) Steel tank rectifier
(d) Varactor diode
[RRB JE 27.08.2015]
A JFET is
(a) a current controlled device
(b) a low input resistance
(c) a voltage controlled device
(d) is always forward based
[RRB JE 27.08.2015]

Which type of gain is achieved using CB

configuration
(a) current voltage (b) voltage
(c) resistance (d) power

[RRB JE 27.08.2015]

26.

27.

28.

29.

30.

31.

Uhd oM YRS & = AF & ?
(@) =1yl
(b) et
(c) ITa TS
(d) g &TTF%
[RRB JE 26.08.2015]

A B AUEE WX, Y& SEdldd H R
& BROT BT B

(a) Bl
(VIEEEE
(c) M
(d) Bl 3R gelagi=l QI
[RRB JE 26.08.2015]

ADHe 3 el #§ il 7 & o9d &l
TfreTerfored Bt 8

(a) S T9HH ® HRU BT B
(b) TS ORI & BRUT BT B
(c) MINHd & HRU BRA T
(d) ¥ B [N B BRU BT B
[RRB JE 27.08.2015]

frfaRad & 9 &9 91 fiearl SR UeT
TR IR dH dlecul BT THAT B Thdl & —
(@) A 9 faedrl

[N [a¥

(b) Bd ded faEHR

[aY

(c) Wid & faedr

(d) Waex SRS

[RRB JE 27.08.2015]
T JFET & —
(@) W& 9gRT REEE IuHRvl
(b) W& 4 s9e ufeRiEl @
(c) T& dieccol T Sud=or
(d) B9 oy SffHfy # BT B
[RRB JE 27.08.2015]

CB o &I ST &_a b YR &1
o urd fear Sar g,

(a) &RT dleco (b) e
(c) UfeRIEr (d) wifda
[RRB JE 27.08.2015]




33.

34.

35.

36.

37.
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In a vaccum diode, emission of electrons happens
due to

(a) electric field
(b) magnetic field
(c) heating
(d) electron bombardment
[RRB JE 27.08.2015]
Which of the following cannot actually move ?
(b) ions
(d) majority carreers
[RRB JE 27.08.2015]

(a) free eclectrons
(¢) holes

The mean value of half wave rectified sine wave
1S

(@) 0.7071 1_
(c) 051 L

(b) 0.6371 1_
(d) 03181 1_
[RRB JE 27.08.2015]

In an N-P-N transistor, the majority carriers in
the base region are

(a) holes
(b) electrons
(c) both holes and electrons
(d) either electrons or holes
[RRB JE 27.08.2015]

Which of the following is used for generating
time varying wave forms ?

(a) MOSFET
(b) PIN diode
(¢) Tunnel diode
(d) UIT
[RRB JE 27.08.2015]
The voltage across a zener diode
(a) can be constant in forward direction
(b) can be constant in reverse direction

(¢) can be constant in both forward and reverse
direction

(d) can be not constant
[RRB JE 27.08.2015]

32.

33.

34.

35.

36.

37.

Uh faid SRie #, SoldgHl BT Sodei
fdd RO BIAT 2

(a) fagga &

(b) W’H a=

(c) dm

(CIENEEECERIN

[RRB JE 27.08.2015]
frfaRaa & 9 o= 91 arda § wfa =8
PR DT B?
(a) Y9 FATEI
(c) Bl

(b) 3ma

(d) El%;ﬂ’@ﬁﬁ EIEED
[RRB JE 27.08.2015]

g O A ST TN Bl W A B

(@) 0.7071 T_ (b) 0.6371 1

() 051 T_ (d) 03181 T_

[RRB JE 27.08.2015]

N-P-N gifSieeR 4, 3R &5 H dga@Idbasd
BId 8

(a) Bled

(b) SAdE

(c) Bl 3R goddgl I

(d) a1 qI Slded AT Bled

[RRB JE 27.08.2015]
fr=falRaad & 9 feaer STarT IHI—aRacd=
TAT ®Ul B S~ Hed & fore fopar Srar
g?
(a) MOSFET
(b) PIN SIS
(c) TSNS
(d) UIT

[RRB JE 27.08.2015]
TR STe @ 3IR—3MR dledol 8T &
(@) 31 faum ¥ el
(b) gz fesm & wemf
(c) 3 3R uwg faum < # emd
(d) I <&l BIan|
[RRB JE 27.08.2015]
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38.

39.

40.

41.

42.

43.

44.

Basic Electronics

Which of these has highly doped p and n region?

(a) PIN diode (b) Tunnel diode

(c) Photodiode (d) Schottky diode
[RRB JE 27.08.2015]

At room temperature a semiconductor material
is

(a) perfect insulator (b) superconducting
(d) slightly conducting
[RRB JE 27.08.2015]

(c) conducting

Which of the following has highest conductivity?
(a) Silver

(¢) Platinum

(b) Aluminium
(d) Tin
[RRB JE 27.08.2015]

In an arc rectifier, the drop in voltage at the
cathode is approximately

(b) 6 to 7 volts
(d) 1.2 t 7 volts
[RRB JE 27.08.2015]

(a) 1 volt
(c) 60 to 70 volts

The most commonly used semiconductor
material is

(b) carbon
(d) Phosphorus
[RRB JE 27.08.2015]

(a) silicon

(c) germanium

For a P-N junction diode, the current in reverse
bias may be

(a) few amperes
(b) few milliampere
(c) between 0.5 Ato 1 A
(d) few nanoamperes to microamperes
[RRB JE 27.08.2015]

A full wave bridge rectifier is supplied voltage
at 50 Hz. The lowest ripple frequency will be

(a) 400 Hz (b) 200 Hz
(c) 100 Hz (d) 50 Hz
[RRB JE 27.08.2015]

38.

39.

40.

41.

42.

43.

44.

=8 9 fodd Swa wifed P IR N &3 BIam
77

(a) PIN SRS
ORICSRIS

(b) TTA SRS
(d) Thlcdnl SHITS
[RRB JE 27.08.2015]

PR B dUEH R TP Agdicdd ueref grar
5

(@) Qo Fercid
(c) ATAF

OIEIGEIGED
(d) 3reUaTA®
[RRB JE 27.08.2015]

frafeRag 5 9 foae arcear dead 1fSe
NG

(a) RIeR
(c) wifeTm

(b) Tegfafran
@ fe=1

[RRB JE 27.08.2015]
Uh e Read § dofis R dieeol # ard
SRICGEIRES IS

(@) 1 dicc (b) 6 1 7 dice
(c) 60 70 dicc (d) 1.2 ¥ 7 diec

[RRB JE 27.08.2015]
JMAAR e 21 SuaT fbar o= Tl
ddTdd UarRt S g —
(a) Taferid S RCEER]
(c) SHfTIw (d) BRHRA

[RRB JE 27.08.2015]
P-N Si@®E SHIIe & foly, ged Al # oy
Bl B—
(a) BB THRR
(b) BB el TR
(c) 0.5AT1A
(d) BB I TR 9§ AgH TRiRR

[RRB JE 27.08.2015]
UH gU I A fAedHRI Bl 50 Hz W dlec sl
&1 3MYfd B S § | Fad B SBT3yl
R —
(@) 400 Hz
() 100 Hz

(b) 200 Hz
(d) 50 Hz
[RRB JE 27.08.2015]



45.

46.

47.

48.

49.

50.

51.
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The forbidden energy gap for germanium is
(a) 0.12 eV (b) 0.72 eV
(c) L.11 eV (d) 1.52 eV

[RRB JE 27.08.2015]

Most of the electrons in the base of an NPN
transistor flow

(a) out of the base lead
(b) into the collector
(c) into the base
(d) into the base supply
[RRB JE 28.08.2015]

A transistor has a current gain of 0.99 in the
CB mode. its current gain in the CC mode

(a) 100 (b) 99
(c) 0.99 (d) 1.01
[RRB JE 28.08.2015]
The number of doped regions in P-N diode is
(@ 1 (b) 2
(c) 3 (d) 4
[RRB JE 28.08.2015]
The types of carriers in a semiconductor are
(a) 1
(b) 2
() 3
(d) may be 1 or 2 depending on material
[RRB JE 28.08.2015]
In a bipolar transistor which current is largest
(a) collector current
(b) base current
(c) emitter current
(d) base or emitter current
[RRB JE 28.08.2015]
The word enhancement mode is associated with
(b) MOSFET
(d) varactor diode

[RRB JE 28.08.2015]

(a) tuning diode
(c) photodiode

45.

46.

47.

48.

49.

50.

51.

S @ fog fftg 39l sk & —
(@) 0.12 eV (b) 0.72 eV
) 1.11 eV (d) 1.52 eV
[RRB JE 27.08.2015]
NPN gifSRer & QMR # S1ffdbisr Seldgid
yarg sial o |
(a) MR HdATeld ¥ qr8
(b) TUTEH H
(c) TR #
(d) IR Smgfd #

[RRB JE 28.08.2015]
U gIfoer # CB #Is # ¢RI @™ 0.99 BidT
g @ CC Ars # SOdl aRT & 8N
@) 100 (b) 99
(c) 0.99 (d) 1.01

[RRB JE 28.08.2015]
P-N sriie ¥ wifed fbg ¢ &=l ol e ©
(@) 1
(c) 3

(b) 2
(d) 4
[RRB JE 28.08.2015]
ATAd H dqB/H B TPR B —
(a) 1
(b) 2
(c) 3
(d) gsrf R ¥R 1 a1 2
[RRB JE 28.08.2015]
s fogda gifier |, 9l ORT |9ad
JAfeE BT & —
(a) \UTEDH &R
(b) &R &RT
(c) SIS HRT
(d) R T IS ERT
[RRB JE 28.08.2015]
I8 UiHc At fhad Heafa o
(a) I SRS (b) MOSFET
(c) BICERIS (d) ez SRS
[RRB JE 28.08.2015]
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53.

54.

55.

56.

57.

58.

Basic Electronics

Which of the following has highest resistivity ?
(a) Mica (b) Paraffin
(c) Air (d) Mineral oil
[RRB JE 28.08.2015]
Power diodes are generally
(a) silicon diodes
(b) germanium diodes
(¢) carbon diodes
(d) carbon or germanium diodes
[RRB JE 28.08.2015]
The depletion layer width of Junction
(a) decreases with light doping
(b) is independent of applied voltage
(¢) increases under reverse bias
(d) increases with heavy doping
[RRB JE 28.08.2015]

For mercury arc rectifiers, the anode is usually
made of
(a) aluminium (b) graphite
(d) copper
[RRB JE 28.08.2015]

The number of valence electrons in donor
impurity are

(a) 1
(© 5

(c) tungsten

(b) 3
(d) 7
[RRB JE 28.08.2015]
In mercury arc rectifier, mercury is used as
(a) cathode
(b) conducting medium
(c) ionizing medium
(d) electron accelerator
[RRB JE 28.08.2015]

When a material becomes a superconductor, its
resistivity becomes

(a) very small
(b) zero
(c) about 10% of normal value
(d) about 20% of normal value
[RRB JE 28.08.2015]

52.

53.

54.

55.

56.

57.

58.

g & 9 fegad gfoRee Swdd & —
(a) 3u® (b) B=IfthA
(c) I (d) IS T

[RRB JE 28.08.2015]
vfdd SRS SIFAR WX BT & —
(a) NP SRS

(b) SHITT SRS
(c) B SIS
(d) BEA AT SHIIH SRS

[RRB JE 28.08.2015]
4 f6 srae wa 6 Ao —
(@) =1 Ac9 & 9T "ed B
(b) IRAT dieesl W R & w=elr B
(c) T AfAfy & dadt @
(d) 9 A ® AT 9@l B

[RRB JE 28.08.2015]
P P AN & oY, TS THAR U
1 BIT & —
(a) TR Bl

(c) T &I

(b) UHIET Bl
(d) T @

[RRB JE 28.08.2015]
SIT S7Elf | WAISH Soldgidl &l H&T Bl
s
(a) 1
(c) 5

(b) 3
(d) 7

[RRB JE 28.08.2015]
AHY 3N fAedRl #§ R &I AT fba ®y
¥ foear Srar @
(a) DTS
(b) T A
(c) JMATRN  HIEH
(d) SAdE RSP

[RRB JE 28.08.2015]

ST Prs geredf siftered 99 ST © Al S9dl
yfoRErhar —
(a) 950 ®H B Sl B |
(b) T B TR B
(c) M A BT T 10% 8 AT @
(d) AMT A BT T 20% 8 WAl @
[RRB JE 28.08.2015]




60.

61.

62.

63.

64.
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Ionization within a P-N junction causes a layer
on each side of the barrier called the

(a) junction
(b) depletion region
(c) barrier voltage
(d) forward voltage
[RRB JE 28.08.2015]

A filter circuit that consists of a second choke
connected to output side in order to improve
filtering action is known as

(a) T-type filter circuit
(b) p-type filter circuit
(¢) R-L filter circuit
(d) Inverted L-type circuit
[RRB JE 29.08.2015]

Conduction electrons have more mobility than
holes because they

(a) arc lighter
(b) have negative charge
(c) need less energy to move them
(d) experience collision frequency

[RRB JE 29.08.2015]
Valency of silicon is
(a) 4
(c) 5

(b) 3
(d) 2
[RRB JE 29.08.2015]
The PN junction diode is a
(a) passive device
(b) vaccum tube
(¢) unilateral device
(d) bilateral device
[RRB JE 29.08.2015]

Reverse saturation current in germanium diode,
is of the order of

(a) 1 nano Ampere (b) 1 micro Ampere
(d) 10 milli Ampere
[RRB JE 29.08.2015]

(¢) 1 milli ampere

59.

60.

61.

62.

63.

64.

P-N SifE & HIaR SMIHIeRUl QeRle &
PR TIPS R Th R 99l & 24
R Pl BT ST B —
(a) S
(b) 3T TR
(c) 3R fova
(d) 3 v

[RRB JE 28.08.2015]
39 fheer uRuer & fbd w9 # ST SIrar
g o v @le e el § guR &
& fog frfd R 9| o1 sar @
(@) T-UdR & [heex gRuyey
(b) P-UBR HI ey URuer
(¢) R-L fheer uyikuer
(d) gshH L-UBR BT Ry

[RRB JE 29.08.2015]
AT geldg™l H Bled Bl ga H SfEE
ferefierar g & wife 9
(a) b BN B
(b) FOMHBG 3JMAY E & |
(c) % WHARd &= & fow /= ool &l

3MATAHAT BT T |

(d) SFPR Mgl BT A BT B

[RRB JE 29.08.2015]
Rifetdd & FaoidedT & —
4 (b) 3
5 W) 2

[RRB JE 29.08.2015]

PN SieH SRS ®
(a) TSP SUa=w 2|
(b) Faid <@ B
(c) TP Wi SUBT B
(d) fguehy SudRor |

[RRB JE 29.08.2015]
S SRS W Uvd EJi| gri, | dife
@ B B —
(@) 1 =4 TR
(c) 1 el wafRR

(b) 1 APl QHIRR
(d) 10 el griRR
[RRB JE 29.08.2015]
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66.

67.

68.

69.

70.

71.

Basic Electronics

A PIN diode is frequently used as a
(a) peak clipper

(b) voltage regulator

(c) harmonic generator

(d) switching diode for frequencies up to GHz
range

[RRB JE 29.08.2015]

Lowest output resistance is obtained in the
configuration

(a) CE
(b) CB
(c) CC
(d) CC and CE both equally
[RRB JE 29.08.2015]

Ripple factor of a full wave rectifier without
filter will be

(a) 0.2
(c) 0.24

(b) 0.48
) 1.21
[RRB JE 29.08.2015]

Which of the following is an example of a non-

ohmic resistance

(a) Copper wire (b) Carbon resistance

(¢c) Diode (d) Tungsten wire
[RRB JE 29.08.2015]

The transistor configuration producing highest
output resistance is

(@) CE
(c) CC

(b) CB

(d) CE and CB both
[RRB JE 29.08.2015]

The Schottky-barrier diode has

(a) no PN junction (b) one PN junction

(c) two Pn junctions (d) three PN junction

[RRB JE 29.08.2015]

The temperature coefficient of intrinsic

semiconductors is
(a) zero (b) positive
(d) same as that of metals

[RRB JE 29.08.2015]

(c) negative

65.

66.

67.

68.

69.

70.

71.

PIN U& fi9 (PIN) SRt & SUINT IRR &
wy ¥ fear orar @

(a) BR &dd
(b) dieesl fam™®
(c) BMIM® I

(d) GHz 351 d& 3mghmal & fag Rafi
SRS B B

[RRB JE 29.08.2015]
B I d R srseye ufeRiy #
g fdar o ©
(a) CE
(b) CB
() CC
(d) CC 3R CE THI # 9 w4 ¥

[RRB JE 29.08.2015]
Uh quf T fasean) &1 ST ond fheey
& 991 8Iem ®
(a) 0.2
() 0.24

(b) 0.48
(d) 1.21

[RRB JE 29.08.2015]
frfeiRad # & ®iF ge RN Uil &1
UHh IR & —
(@) did & TR
(c) SIS

(b) P YRR
(d) T dR
[RRB JE 29.08.2015]

STaaH  SeYe iR
ciforeer fa=ma &

(@) CE
(c) CC

SIS AN BC S BRCI]

(b) CB
(d) CE 3R CB Tl

[RRB JE 29.08.2015]
IMedl — AaRE Se # B ¥ -
(a) ®IS PN Hfr 78l(b) Tk PN Hfer
(c) I PN fer (d) 9 PN Gfr

[RRB JE 29.08.2015]

& IGddd B YA ONd & —
(a) 3 (b) T THD
(c) RUTHD (d) a1g & FHH
[RRB JE 29.08.2015]




73.

74.

75.

76.

77.

Basic Electronics
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Mobility of electron is highest in
(a) Si (b) GeAs
(c) C (d) Ge
[RRB JE 29.08.2015]

Tunnel diode 1s made of the semiconductors

which are

(a) highly doped (b) sparsely doped

(¢) intrinsic (d) normally doped
[RRB JE 29.08.2015]

A body containing electrons less than its normal
number, it is said to be
(a) ncutral
(b) atom
(c) negatively charged
(d) positively charged
[RRB JE 29.08.2015]

The semiconductors behave as... at 0 K.
(a) Semiconductor (b) superconductor
(¢) insulator (d) conductor

[RRB JE 29.08.2015]

The flow of clectrons caused by variation in
concentration is known as

(a) drift current
(b) diffusion current
(¢c) conventional current
(d) non-conventional current
[RRB JE 29.08.2015]

With the increase in junction temperature,
reverse current of the P-N junction

(a) increases
(b) decreases
(¢c) remains same

(d) decreases upto a limit and then becomes
constant

[RRB JE 29.08.2015]

72.

73.

74.

75.

76.

77.

goldgi & Tfererd] H SeadH Bl
2|
() Si (b) GeAs
©) C ) Ge

[RRB JE 29.08.2015]
eIl SIS JfEATAB | 991 & O Bl o—

(a) ARG AT
(c) Is

(b) /=1 wfed
(d) 9= AT

[RRB JE 29.08.2015]
v e o sl 9= | 9 &H
SldS B &, 39 Bl Ol & —

(a) SerIE
(b) gxHTT
(c) FUMHE 3Maid
CVERISEASICHIE]

[RRB JE 29.08.2015]
JEAAdd 0°K. IR & ®Y H AR Pl
g |
(a) STEATAR DEINEIGED
(c) BATAR (d) ard®

[RRB JE 29.08.2015]

digar # IRacd & HRU Soldgi-l & Ydie
& fbd ®9 § ST ST ®

(a) dBld €I
(b) TR ERT
(c) \IsT URI
(VRS SEER I

[RRB JE 29.08.2015]

GaRE dEE A gl @ Wl P-N SaRe d
TEE ORI BT & —

(a) &l ©
(b) T ©
(c) 9 W& ©

(d) & T I Tedl & 3R e wmdr &l
ST 21

[RRB JE 29.08.2015]
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78. The doping of a tunnel diode is approximately 78,

79.

80.

81.

82.

83.

84.

Basic Electronics

....times higher than a conventional diode
(a) 200 (b) 500
(c) 1000 (d) 2000
[RRB JE 29.08.2015]

Transistors are analogous to
(b) Varactor diode
(d) tunnel diode

[RRB JE 29.08.2015]

(a) Vaccum diode

(¢) Vaccum triode

What is ripple factor of ripple of 2 V on average
of 50 V

(@) 0.02
(c) 0.04

(b) 100
) 25
[RRB JE 29.08.2015]

Electric networks which permit unattencuated
transmission of signals are called

(b) Diode
(d) Filter
[RRB JE 29.08.2015]

(a) Rectifier

(¢c) Transistor

The diode that can be used for harmonic
generation is

(a) backward diode
(b) PN Junction diode
(¢) tunnel diode

(d) varactor diode

[RRB JE 29.08.2015]

For a full wave rectifier, ripple factor is
(a) 1.482 (b) 0.482
(c) 1.21 (d) 0.21
[RRB JE 30.08.2015]

The process of applying DC voltages across
different terminals of a transistor is called

(a) Open-Circuiting (b) Biasing
(d) Unblushing
[RRB JE 30.08.2015]

(¢) Combination

79.

80.

81.

82.

83.

84.

Udh S SIS &l HIGH Udh Hgdd SIS kil

RG] e I BIAT ©
(a) 200 (b) 500
(c) 1000 (d) 2000

[RRB JE 29.08.2015]
gifSRer & ™Y &1 ©
(@) Fafd SEIe (b)) NaeR SHITS
(c) Fafd gras (d) <7 SHTE

[RRB JE 29.08.2015]
50 VEH Nd )R 2V & @ @1 S

ol T & ?
(a) 0.02 (b) 100
(c) 0.04 (d) 25

[RRB JE 29.08.2015]

faerdia Sicas S Hadl & SMiddRd HaRvr
@ AT I B, FHBAd B —

(a) edrY (b) SRS

(c) qIvoRER (d) Theex
[RRB JE 29.08.2015]

EHIeG IS @ foly WINT el ST aTel
SHE & —
(a) dFpas SRS
(b) PN wfYy SRie
(c) T SN
(d) N <A

[RRB JE 29.08.2015]
(a) 1.482 (b) 0.482
@) 121 (d) 0.21

[RRB JE 30.08.2015]
Udh CIfVReR & T 3T <fiqal & SR
dlecol o @l Ufohal &I w8l ol & —
(b) 3=t
() R—arfd

[RRB JE 30.08.2015]

(a) GeT—aRueH
(c) SIroH=



86.

87.

88.

89.

90.
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The movement of electron which is caused by  85.

application of electric field is
(a) Drift current
(b) Diffusion current
(¢) Conventional current
(d) Non-conventional current

[RRB JE 30.08.2015]
In semiconductors, a donor may be
(a) a bivalent impurity
(b) a tetravalent impurity
(c) a pentavalent impurity
(d) a noble gas

[RRB JE 16.09.2015]
PIN diode in reverse bias condition offers
(a) zero resistance (b) unit resistance
(c) finite resistance (d) infinite resistance

[RRB JE 16.09.2015]

Which of the following is ultra high switching
speed diode

(a) Zener diode
(b) Photo diode
(c) Fast Recovery diode
(d) Tunnel diode
[RRB JE 16.09.2015]

For normal operation of a transistor, the
collector-base junction is

(a) always reverse biased
(b) always forward biased
(c) is grounded
(d) unbiased
[RRB JE 16.09.2015]

Pulsating output of a rectifier is converted into
a steady state DC level by

(a) Amplifier (b) Modulator
(c) Filter Circuit (d) Transistor
[RRB JE 16.09.2015]

86.

87.

88.

89.

90.

Solde B T S fORd & & STIuAnT &
PR BT § —

(a) dB1d €I
(b) TR RT
(c) \asT URI
(d) 3T &I
[RRB JE 30.08.2015]
JEATAS W, UPH QI Bl Fhdl & —
(a) W& fgHare 3131&&'
(b) Tk 1 G ewfE
(c) Y& Yd HASI 3MfE
(d) TP S I
[RRB JE 16.09.2015]

gyg AT § PIN SRS e Rafd gem
HRAT B

(2) I T
(c) ¥ yfeer

(b) IHIE URE
(d) oid ufeRg
[RRB JE 16.09.2015]
/=1 & 9 @4 eregr B Rafewr wfa arer
SIS B
(a) SR SIS
(b) BT SRS
(c) BRe ReHa SIS
(d) T SRS
[RRB JE 16.09.2015]

U gifSTRey &1 M= HdTed & foly |uTsd
MR Wl Bl & —

(a) BHEM 9T SIfa
(b) THIM 30 3T
(c) ¥ Haiua
(d) 3 3TfA=IT

[RRB JE 16.09.2015]

Th fdewrR & wed dfid sseye @l
TRT U FReR 3raweyr drel SI¥l Wk # uRafda
fopar orar ©

(a) Uarld
(c) Theew uikuer

(b) eI
(d) giforex
[RRB JE 16.09.2015]
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91.

92.

93.

94.

95.

Basic Electronics

Which of the following is not a type of filter

(b) high pass

(d) frequency pass
[RRB JE 16.09.2015]

The point at which load line intersects I, (sat)
(saturation value of base current) is called-

(a) low pass

(c) bandpass

(a) Cut off point (b) Quiescent point
(c) Breakdown point (d) Saturation point
[RRB CBT-2 30.08.2019]
Which of the following diodes is a signal diode?
(a) OA79 (b) BY127
(c) 1N4007 (d) DR25
[RRB CBT-2 : 01-09-2019]

Silicon solar cell has an open circuit voltage
NOT equivalent to-

a1V
(c) 045 V

(b) 13V
(d) All of the options
[RRB CBT-2 : 01-09-2019]

oscillator has the best frequency stability
and accuracy.

(a) Tickler feedback
(b) Hartley
(c) Crystal controlled
(d) Colpitts
[RRB CBT-2 : 01-09-2019]

91.

92.

93.

94.

95.

frafeRad § 9 P fheer &1 YdR 81
27

(@) M= 9™
(c) ¥ U™

(b) S=d U™
(d) 3mgfa ur

[RRB JE 16.09.2015]
a8 fdg oM W 9R @8 I, (W) (SR gy
& AIfd A1) B B! &, I BT ofmdl o |
(a) Pc 3B fdg  (b) @ fig
(c) ¥or fig (d) wqfe fig

[RRB CBT-2 30.08.2019]

f=foRaa & @ d9-—1 SRS dad SRS
37
(@) OA79
(c) 1N4007

(b) BY127

(d) DR25
[RRB CBT-2 : 01-09-2019]
Riftre W) 9 § TP @er gRee dieo

& Tded Bl § —
(@ 1V (b) 1.3V
(c) 045V (d) T o+

[RRB CBT-2 : 01-09-2019]
qifers &l Had sl 3mgfa Remdn
3R Wdar & —

(a) fchper fhedd
(b) BT

(c) Tohecd Tra=md
(d) PrerficH

[RRB CBT-2 : 01-09-2019]
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RRB : SENIOR SECTION ENGINEER

1.

In a transistor radio, a frequency tuner circuit
that was conventionally used, would consist of-

(a) An inductor and a variable capacitor in
parallel

(b) A bridge rectifier diode feeding the base of
a transistor through variable resistance

(c) A multiple coil variate
(d) A potentiometer with variable resistance

[RRB SSE 2014]

"Common Base" configuration refers to the
configuration of a —

(a) Rectifier
(¢c) Diode

(b) Transistor
(d) Inverter
[RRB SSE 2014]

Based on the choice of the 'Q' point on the
current voltage characteristics of the transistor,
the amplifiers are classified as :

(a) Class I, II, III and IV
(b) Class A, B, C and AB
(¢) Class A, B, C and D
(d) Class IA, IB, 1IA and IIB
[RRB SSE 2014]
Match the following :

Power electronics, Motor
speed control. battery
charging. Phase control

1 | Rectifier | a.

2 | Transistor | b. Rectifiers, Wave Clipper

circuits
3 SCR c. Amplifiers, Switches
(a) 1-a, 2-c, 3-b (b) 1-b, 2-a, 3-¢
(¢c) 1-b, 2-c, 3-a (d) 1-c, 2-a, 3-b

[RRB SSE 2014]
To obtain the P-type semiconductor :
(a) A pentavalent Impurity is added
(b) A trivalent Impurity is added
(¢) Both are added
(d) None of these
[RRB SSE 2014]

1.

h giforer eal #, v smgfar R aRuer

e TRURE w0 9 ST fear AT en

(@) AN U WHd 3R AR # b o)
e

(b) TF g Redrl SHre 8@ & S Udh
iIfSTReR & 3R &I oR UfeRI & #A1egH
A fhs @xar g

(c) U dqg fafderar geell

(d) T UReREaMer =R UfRR & At
[RRB SSE 2014]

"INIFS IR fo=T" & fommg & HefHa

BT ¢ |

(a) TeedrY
(c) SRS

(b) gifSTeex
(d) g7ac

[RRB SSE 2014]
CIORER @I aRT diceol 3ifTeeIOmdl R Q’
g & o9 & MR WR, Ylhl &1 Hildhd
fopar T B
(@) =l I, 1L, 111 3fR IV
(b) =ivft A, B, C 3iR AB
(c) o1 A, B, C 3R D
(d) =ivfl IA, 1B, TIA 3fRR 1IB

[RRB SSE 2014]

frfaRad & fiemg

Power electronics, Motor
speed control. battery
charging. Phase control

1 | Rectifier | a.

2 | Transistor | b. Rectifiers, Wave Clipper

circuits
3 SCR C. Amplifiers, Switches
(a) 1-a, 2-c, 3-b (b) 1-b, 2-a, 3-¢
(c) 1-b, 2-c, 3-a (d) I-c, 2-a, 3-b

[RRB SSE 2014]
P-UPR IGATAd Uw - & folg
(a) oSl SrgfE Sied
(b) Aol srgfe Siisd B
(c) THT @I Ssd Bl
(d) 3 & PE TN

[RRB SSE 2014]
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10.

11.

Basic Electronics

Which Junction Transistor is preferred for high 6.

input and low output impedances ?
(a) Common Collector
(b) Common Base
(¢) Common Emitter
(d) Any one of these
[RRB SSE 2014]

For a PN Junction, when the N-side is more
positive than the P-side; the diode is said to be

(a) Forward biased and a large current exists
(b) Forward Biased and a small current exists
(c) Reverse Biased and a large current exists
(d) Reverse Biased and a small current exists

[RRB SSE 2014]

The MOSFET switch in its on-sate may be
considered equivalent to :

(b) Capacitor
(d) Battery
[RRB SSE 2014]

(a) Resistor
(¢) Inductor

Zener Diode is a :
(a) Reverse biased diode
(b) Forward biased diode
(c) Variable voltage source
(d) Constant current source
[RRB SSE 2014]

A material 1s said to have become

superconductor when
(a) its resistance becomes negative
(b) its resistance becomes very small
(c) its resistance decrecases
(d) its resistance becomes zero
[RRB SSE 2014]
FET is a device which has

(a) high input impedance and is current
controlled
(b) low input impedance and is voltage
controlled
(c) high input impedance and is voltage
controlled
(d) low input impedance and is current
controlled
[RRB SSE 2014]

10.

11.

Jed gYC AR 7 smseye ufdemrn & fog
®IFY Sige gifvRex &I aRkaar <1 ST 87
(a) SAMET FUED

(b) SHITE 3R

(c) SAfTE ISI®

d) T ¥ @ T

[RRB SSE 2014]
U PN Siged & forg, of@ N-Rr P-Rr ot
T ¥ Q¥ g BT 8, 99 SRS &l
FE] AT B —
(a) 3T MY IR Udh Swa &RT dTedl
(b) 3T AT IRy 4 a1 aren
(c) U%d AMART IR Uh Swd ORI arell
(d) g%a AMERT iR v = awr drer

[RRB SSE 2014]
MOSFET e &l ¥ Ale]—3Tavll & Al
HET ST bl 2|

(a) wfcrRer
(c) Wb

(b) e
() &
[RRB SSE 2014]
Th SR SIS Bidl & —
(a) 9%a IMHART SIS
(b) 3T IFHART SHITS
(c) TR e ==Ta
(d) 3R gRT Ed

[RRB SSE 2014]
Uh uerf B sifdemele der IdT & o
(@) P YRR RO BT &

(b) BT R 9gd HH & ol ©
(c) 39T YRR &H BT Sl &
(d) s9®T 9feRE g1 8 orar ®
[RRB SSE 2014

FET T SYRU & foreH

(a) =@ 39Yc ufaarn iR amr fREfE g

(b) ™1 gTge yfEmE &R diecsl FRIGE B |

(c) 9= TYC Ufdqrm 3R diecsl FRIFR B

(d) =1 39ge uftemen iR awr A g
[RRB SSE 2014]




13.

14.

15.

16.
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Select the Statement which i1s NOT correct.

(a) The magnetic amplifier is a device for
amplifying electrical signals

(b) A transistor is composed of semiconductor
material

(¢) pn diode is based upon p-n junction
(d) Potentiometer controls audio signals
[RRB SSE 2014]

When donor type impurity is added to a
semiconductor material.

(a) clectrons are generated and material is N-
type

(b) clectrons are generated and materials is P-
type

(c) holes are generated and material is called
P-type

(d) holes are generate and material is called
N-type

[RRB SSE 2014]

A P-N junction diode's dynamic conductance is
directly proportional to

(a) the applied voltage
(b) the temperature
(¢) its current
(d) the thermal voltage

[RRB SSE 2014]
The maximum efficiency of a full wave rectifier
is
(a) 100%
(c) 81.2%

(b) 91.1%
) 80%
[RRB SSE 01.09.2015]

Which of the following will serve as a donor
impurity in silicon ?
(a) Boron (b) Indium

(d) Antimony

[RRB SSE 01.09.2015]

(¢) Germanium

12.

13.

14.

15.

16.

IY PIT BT TIT B ol W8l T8l B —

(2) b yaeies fagid Havdl &l @M Bl
Uh STV B

(b) TH QIR rfarad ucrd 9 &1 ©

(c) p-n SIS p-n SIAeE TR MEMRT 2|
(d) UIeRraMeR Siffsal daa & MREifa d=ar
2|
[RRB SSE 2014]

Tq AT UBR & TGl &I FGdaredd gared

¥ el rar g

(a) Scldgi< SAMed BId & 3fR Ut N-UYHR
P BT T

(b) Selaga A 8 & 3R Ui P-UsR
P BT B

(c) Blcd IAIEd BId © 3R Uyl P-UdR &l
BIdT & |

(d) Bled SATad 81 & 3R gl N-UBR &I
BIAT © |

[RRB SSE 2014]
U$ P-N SiRE Sl @ fasfiad ard®
A gArIfe § —
(a) IR dlecol
(b) AT
(c) SADI ERT
(d) ai fava

[RRB SSE 2014]
T gof o feeer @ sifrean <Erdr ©

@) 100%
() 81.2%

(b) 91.1%
(d) 80%

[RRB SSE 01.09.2015]
f=tfetfaa 4 9 @9 fufae # <mar srgfs
F w H B H P

(a) SN (b) sfeam

(c) SHfTaH (d) Tt

[RRB SSE 01.09.2015]
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17.

18.

19.

20.

21.

Basic Electronics

The JFET isa_
(a) Current controlled current source
(b) Current controlled voltage source
(c) Voltage controlled current source
(d) Voltage controlled voltage source
[RRB SSE 01.09.2015]
configuration has the highest voltage
gain
(a) Common emitter
(b) Common collector
(¢) Common base
(d) Both b and ¢
[RRB SSE 01.09.2015]
Which rectifier needs four diodes?
(a) Half wave rectifier
(b) Center-tap full wave rectifier
(c) Bridge-rectifier
(d) Both b and ¢
[RRB SSE 01.09.2015]

The concentration of minority carriers in an
extrinsic semiconductor under equilibrium 'is

(a) Directly proportional to the intrinsic
concentration

(b) Inversely proportional to the intrinsic
concentration

(c) Directly proportional to the doping
concentration

(d) Inversely proportional to the doping
concentration

[RRB SSE 01.09.2015]
The current flow in a semiconductor is due to
1. Drift current
2. Displacement current
3. Diffusion current
(@ 1,2 and 3
(¢) 1 and 3 only

(b) 1 and 2 only
(d) 2 and 3 only
[RRB SSE 01.09.2015]

17.

18.

19.

20.

21.

JFET U& .
(a) 91 fRIE a1 &=a B
(b) a1 R diees T B
(c) dleesl I oRT &d B
(d) dlecy R dieesr S B
[RRB SSE 01.09.2015]
o # Seadd dleeol @M B

(a) SN IT®

(b) STMT HUED
(c) ST 3ARIR
(d) b 3R ¢ =
[RRB SSE 01.09.2015]

frd MfdchRR & IR SRS @ IMaTIHAT
Bl 87
(@) &€ T REHRI
(b) He—<U Ul T e dHRT
(c) wg feary
(d) b 3R ¢ =T
[RRB SSE 01.09.2015]

AR 3[aI] & T8d U IYg AEdcid 4
U dlgdh @ Wiedl Bl ©

(2) I§ 9Wisdl & R FHude
(b) Y& WGl & FHATUT]

(c) MG Higdl & R FHuIds

(d) ATET HiGdl & FEHATUT)

[RRB SSE 01.09.2015]

el & ORT Yalg & PHRYT Bl 3|
1. 9819 €

2. Toeqmue g1

3. IR gmr

(@ 1, 23R 3 (b) daat 1 3R 2

(c) dadd 1 3R 3 (d) dad 2 3R 3

[RRB SSE 01.09.2015]
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24.

25.

26.

27.
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Early effect in BJT is related to
(a) Base narrowing
(b) avalanche breakdown
(c) Zener breakdown
(d) Thermal runaway
[RRB SSE 01.09.2015]
has the greatest mobility.
(a) Hole (b) Electron
(c) Positive ion (d) Negative ion
[RRB SSE 01.09.2015]

The mean free path for electron drift with
impurity.

(a) Increases
(b) Decreases
(c) First increases then decreases
(d) Remain same
[RRB SSE 01.09.2015]
The most heavily doped region in a BJT is___.
(a) Collector
(b) Emitter
(c) Base
(d) both collector and base
[RRB SSE 01.09.2015]

In a P-type semiconductor, Fermi-level is close
to

(a) The bottom of the valence band
(b) The top of the valence band
(c) The top of the conduction band
(d) The bottom of the conduction band
[RRB SSE 02.09.2015]
Generally bridge rectifiers are preferred because
(a) They have less peak inverse voltage
(b) They require small transformer.
(c) They have low ripple factor.
(d) Both a and b.
[RRB SSE 02.09.2015]

22.

23.

24.

25.

26.

27.

BIT § WRf¥% wvrg Gefed & —
(a) MR Fhiad

(b) VoI SHSTSA

(c) OFR GG 3
d) i sifREYT
[RRB SSE 01.09.2015]
@I Tfalrear sffrdad gl §
(a) e (b) gAFST
(c) TATH® M (d) FoTHD T
[RRB SSE 01.09.2015]
q1ey  Fd Y Sddgid 9819 @ fay
Y& & A1
(a) 9 ©
(b) Tear &
(c) Ugd Sl & e wedr ©
(d) T8T Bl ©
[RRB SSE 01.09.2015]
BIT # waiftre @i #ifad e & .
(a) HUTEDH
(b) SIH
(c) AR
(d) FUE®H 3R MR <™
[RRB SSE 01.09.2015]
P-UBR JEATld d BH-—R HUG Bl
g
(a) TN d° @ A
(b) IS §8 & FW
(c) I o & W
(d) Ire9 d€ B A
[RRB SSE 02.09.2015]
AR IR g fIeHN &l werAdbdr 7 Sl
T Fife
(2) ST& U 1 ReR Yohd dlecsl Bidl
2|
(b) 3T BIC TNIBIFR &I MaWHAT Bl &
(c) 7% N = e sRe B |

(d) a 3R b ™I

[RRB SSE 02.09.2015]
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28.

29.

30.

31.

32.

33.

Basic Electronics

The voltage follower is commonly used as
(a) Regulator
(b) Switch
(c) Isolator
(d) a and b both
[RRB SSE 02.09.2015]
Transistors are mostly used as
(a) Rectifier
(c) Oscillator

(b) Voltage regulator
(d) Amplifier
[RRB SSE 02.09.2015]

Which of the following is not a constituent of a
solar lighting system

(a) Photo voltaic cell
(b) Back up batteries
(c) Charger
(d) Earth wire.
[RRB SSE 02.09.2015]

At absolute zero temperature, an intrinsic
semiconductor behaves like as insulator because
of

(a) Low clectron energy.

(b) Low drift velocity of three clectron

(c) Non-availability of free electron

(d) Non-recommission of electron with hole.
[RRB SSE 02.09.2015]

If the drift velocity of holes under a field
gradient of 400 V/m is 200 m/s, their mobility
in SI unit is
(a) 0.05
(c) 0.5

(b) 0.55

(d) 2

[RRB SSE 02.09.2015]
In transistor if clectrons flow into emitter,

(a) Holes flows out of the emitter

(b) Holes flows out of the collector

(¢c) Electron flow into the collector

(d) Electron flow out of the collector

[RRB SSE 02.09.2015]

28.

29.

30.

31.

32.

33.

T dledel oI SR W

STIRT fhar Sirar ©1

(a) s
(b) Ra=
(c) 3MSHIeR  ([AeiTh)
(d) a 3R b ™I
[RRB SSE 02.09.2015]
gifSIRer &I SUIRT AHRIAT & Y
# fear Smar @
(a) edrY (b) diees RIS
(c) <iferm (d) Uri®

[RRB SSE 02.09.2015]
frfaRad § 9 &9 td AR USRI & 9ch
T8 g —

(a) Wil difecd At
(b) dOAT BT dH—3MY
(c) dTSiv

(d) TR

[RRB SSE 02.09.2015]
Th URH YR AU W, UF Y AS AT,
FHATAD B TE FIER XAl & difb
(a) SidSd P Sl HH BIAl ©
(b) 9 Sotgg™l @1 g81d 9T 9 BT B
(c) Had Seldgid &1 Ul Bl 8|
(d) Bl & AT Seldgd Yol Halod =18l 8

E

[RRB SSE 02.09.2015]
400 V/m Ife 200 m/s, & &5 Afstc & d8d
Bled &1 9819 o1 200 Hiex /Hadbs @, dl SI
ghls H Sdl AR 8 —
@) 0.05 (b) 0.55
©) 0.5 ) 2
[RRB SSE 02.09.2015]
Ife gifviRer #, SoldgM Scoie # Jdifed
B & —
(a) Bl ScSid ¥ d8Y et 1
(b) BT WUTEH I dEY Tderd B
(c) SAded FUEH # 3fex O B
(d) 3dL RS U R ddd B
[RRB SSE 02.09.2015]




34.

35.

36.

37.

38.
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Which of the following is a source of EMF ? 34,

(a) Germanium diode(b) lead acid battery
(c) P channel FET (d) carbon resistor
[RRB SSE 02.09.2015]

Assuming that diode in the given circuit is ideal,

The voltage V" is 35.
4 Q
VVVVV\
1Q
av(®) 20 EVo
(a) 2V b) 3V
(c) 35V @1v

[RRB SSE 02.09.2015]

What is the voltage across the 1 register ? 36.

Si diode
N
L1
N

L1
Ge diode

AAAAAN
VVVVYY
5

sv(©)

(@ 47V
(c)4V

(b) 43 V
@ 5V
[RRB SSE 02.09.2015]

Which of the following devices has the highest,
photo sensitivity ?

(a) Photoconductive cell
(b) Photovoltaic cell
(¢) Photodiode
(d) Phototransistor
[RRB SSE 03.09.2015]

38.

The electrodes of a semi-conductor diode are
know as :

(a) gate and source
(b) anode and cathode
(c) collector and base
(d) cathode and drain
[RRB SSE 03.09.2015]

37.

frfaRad § 9 HH9 SUIU% EMF & S ©

,
(a) SHFTH SRS (b) T GaId Aol
(c) P o9 FET (d) P U

[RRB SSE 02.09.2015]
fag 7 gRuy & SRS, el dieew V' B

410
AAMAAA
YVYVVY
10
4VC> 120 =V
(a) 2V ) 3V
©) 35V d 1V

[RRB SSE 02.09.2015]
1Q ufd¥er & UR dleedr fea-r sRfY ?
S1 diode

N
%
N

L1
Ge diode

1Q

AAAAAN
VVVVYY

sv(®)

(@ 47V
)4V

(b) 43 V
) 5V
[RRB SSE 02.09.2015]

f=fofRad & 9 f5g SumRo 4 Swady Yy
Hdeeierar gidl § ?

(@) BT ATABT Jod
(b) yHra died A
(c) PRI SRS
(d) yBEI gielRey

[RRB SSE 03.09.2015]

Udh Iledlddd SRS & Sodols & ©d #
ST Sl & —

(@) e 3R wIa
(b) TS 3R IS
(c) HUTBH 3R IR
(d) deile 3R £

[RRB SSE 03.09.2015]
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40.

41.

42.

43.

Basic Electronics

What semi-conductor device glows red, yellow,
or green, depending upon its chemical
composition ?

(a) A light-emitting diode
(b) A fluorescent bulb
(¢c) a neon bulb
(d) a vacuum diode
[RRB SSE 03.09.2015]
A trasistor can be destroyed in a circuit by :
(a) excessive heat
(b) excessive light
(c) saturation
(d) cut-off
[RRB SSE 03.09.2015]

On the basics of charge carrier types of field
effect transistors (FET) are :

(a) NPN and PNP
(b) germanium and silicon
(c) inductive and capacitive
(d) N and P channel FET
[RRB SSE 03.09.2015]

The diode is an important part of a simple power
supply. it converts AC to DC, since it ;

(a) has a high resistance to AC but not to DC

(b) allows electrons to flow in only one
direction form cathode to anode

(c) has high resistance to DC but not to AC

(d) allows electrons to flow in only one
direction from anode to cathode

[RRB SSE 03.09.2015]

Zener diodes are used as :
(a) current regulators
(b) voltage regulators
(¢) RF detectors
(d) AF detectors
[RRB SSE 03.09.2015]

39.

40.

41.

42.

43.

P AT SEfTAdd  SUBR
AT & MR WX oTel, Well AT 8 Bl
g,

(@) Uh YPBRT SHoid SRS

(b) U U=l dcd

(c) T T w9

(d) & fafa sHrs

[RRB SSE 03.09.2015]
gRuy #§ T gifoRer & T fHar S dabar
&

(a) IARE T & BRI
(b) IARE YPIT & BRI
(c) TgT & BRI

(d) Pe—aiw

[RRB SSE 03.09.2015]
A dTEdh! & IMER TR &7 yd giforex
(FET) & W&R 8] 2
(a) NPN 3iR PNP
(b) SHfA 3R faferaa
(c) WP R e
(d) N 8iR P o<1 FET
[RRB SSE 03.09.2015]

SIATS Yeb NIERY 2] MTYfef BT Yeb Hgeayef
faxt 81 g Ul @ S § aRafdd e

(2) T & folw v Swa ufeRer 8 ifea <
AL @& o 8T

(b) SIdEl B ddd TH faem # deIsS A
vAle yaifed g9 @ IrAfd a1 @

(c) I & v = ufoRer © oifed g
& fog =18l

(d) SIdgEl P DHad TH faem # TS A
dlS YdIed BIF &I SART <ar @

[RRB SSE 03.09.2015]

SR SIS BT SUANT fhar orar & —

(@) a1 el & w9 H

(b) dices IRl & ®Y H

(c) RF Ha®

(d) AF Hga®

[RRB SSE 03.09.2015]
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Which component can amplify a small signal
but must use high voltages ?

(a) a vacuum tube
(b) A transistor
(c) An clectrolytic capacitor
(d) a multiple-cell battery
[RRB SSE 03.09.2015]

44.

P AT gch Ub BIC Add Bl 9a1 Thbdl

g olfbd STa dlecdl & STINT HIAT dI%Q
>

(a) v fafa Aferar
(b) T gifoTvex
(c) T OEId 3UUcy eI

(d) T T8 el
[RRB SSE 03.09.2015]

Q00



Ans. (b)

A filter circuit is a device to remove the AC
components but allows the DC components to
pass. A capacitor allows AC only and inductor
allows DC only to pass.

Ans. (¢

Oscillators classified by the type of signal they
produce. Since wave oscillator produces a sine
wave output

Relaxation oscillator / Stable Multivibrator
produce square & rectangular wave.

Sweep oscillator: produces sawtooth wave
Ans. (d)

Theoretically, a full-bridge rectifier has a
maximum Efficiency of 8§1.2%

Ans. (a)

Any frequency tuning circuit always have atleast
an inductor and a capacitor

1

f .
27 LC

Ans. (¢

Negative feedback can improve gain stability,
linearity and reduce sensitivity to parameter
variations.

Ans. (a)

Least distortion in the output of a power
amplifier occurs in class A amplifier.

Ans. (a)

Both options (a) and (¢) are true. In order to
obtain p-type semiconductor, trivalent impurities
(Boron, Aluminium or Gallium) are added in
intrinsic silicon.

Ans. (¢

Flow of electrons (or charge) in circuit
constitutes an electric current.

9.

10.

11.

12.

13.

14.

15.

16.

Ans. (d)

B PNP Transistor

Bb—‘i NPN Transistor

eC

Ans. (d)

Aluminium (Al'*) has 3 valence electrons in
last shell.

Ans. (d)

A tunnel diode is a heavily doped p-n junction
diode which has very fast switching
characteristics.

Ans. (¢

Depiction layer is found in diodes at junction
of p-type and N type semiconductors.

Ans. (d)

The energy gap in semiconductor is order of 1
eV.

Ans. (b)

BIT : B - Bipolar (P and N-type)
J - Junction

T - Transmittor.

Ans. (¢

Due to impact ionization.

Ans. (d)

A uni junction transistor (UJT) is a terminal
semiconductor device with only one junction
that acts exclusively as an electrically controlled
switch.



19.

20.

21.

22.

23.

24.

25.

26.
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In solids, electric current flows due to clectrons.
Ans. (a)

Most commonly used control elements is voltage
regulators are BJT and MOSFET.

Ans. (¢

In a pure semiconductor, there are 4 electrons
in their valence cell.

Ans. (b)

Heater coil is made of nichrome and is purely
resistive; hence; it is a liner clement.

Ans. (b)

A metal rectifier is an ecarly type of
semiconductor rectifiers in which the
semiconductor is copper-oxide or selenium. In
some countries, the term "metal rectifier”, an
"normally refers to copper" — oxide types, and
"selenium rectifer” to selenium — iron types.

Ans. (b)

R.MS.Value

From-factor = ——————
romtactor Average Value

Ans. (d)

In covalent bonds, electron pair bonding occurs
when atoms share electrons

Ans. (b)

Minority Carrier

P — type semiconductor : and

electrons

Majority Carrier

holes
Ans. (¢
Phosphorus (P!%) is a pentavalent material
having 5 electrons in its valence shell.
Ans. (d)

Unit gain amplifier is also known as voltage
follower or voltage buffer or isolation amplifies

27.

28.

29.

30.

31.

32.

33.
34.

35.
36.

37.

38.

39.

Ans. (d)

The current which will flow in an intrinsic
semiconductor at room temperature consists of
both electron and hole current

Ans. (¢

The mercury ions emit light at characteristic
wavelengths. At low pressure within a rectifier,
the light appears pale blue-violet and contains
much UV light.

Ans. (¢

Steel tank rectifier can withstand max. dc
voltage.

Ans. (c)

A JFET is 3 terminal voltage controlled unipolar
semiconductor device.

Ans. (b)

Common base (CB) configuration has only
voltage gain :
Ans. (c)

In a vacuum diode, emission of electrons happen

due to thermionic emission of electrons. It occur
when the cathode terminal is heated.

Ans. (b)
Ans. (d)

The average of mean value of half wave rectifier
sine — wave 1s 0.318 I .

Ans. (a)
Ans. (d)
UJT is used in free — running oscillators,

synchronized or triggered oscillator and pulse
generation.

Ans. (b)

The Voltage across Zener diode is constant in
reverse bias direction only.

Ans. (b)
Tunnel diode has highly doped p and n region.
Ans. (d)

At room temperature, a semiconductor material
is slightly conducting due to small electron &
hole current.

no current gain.
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40.

41.

42.

43.

44.

45.

46.

47.

Basic Electronics

Ans. (a)
Ag > Cu > Au > Al (Level of conductivity)
Ans. (b)

In an arc rectifier, the voltage drop at the
cathode is approximately 6 to 9 volts.

Ans. (a)

On ecarth, silicon is available in huge amount as
compared to other semiconductor material.

Ans. (d)

In P-N junction diode, current in reverse bias
may be few microamperes for germanium and
nano amperes for silicon P-N junction.

Ans. (¢

Ripple fregency at output of full wave rectifier
2f, 4f, 6f, 8f............

-, Minimum ripple frequency = 2f
=2 x 50 = 100 Hz.

Ans. (b)

Forbidden gap is the energy difference between
conduction band and valence band of material.
The value of Forbidden energy gap for
germanium is 0.72 eV.

Ans. (b)

[N[P[N]

IN an NPN transistor, few electrons are injected
by the emitter into the base of the transistor
and few electrons directly flow through base to
the positive battery terminal. Most of the emitter
current of electrons diffuses through the thin
base into the collector.

Ans. (a)
As we know that

wo B
B+1

o a

P = l-a

and vy=p+1

48.

49.

50.

51.

52.

53.

54.

Current gain in CB is given by 'o'
Current gain in CE is given by 'B'

and current gain in CC is given by y

0.99 = %
0998 + 0.99=
0.99 =0.01 B
B =99
Now y=p+1=99+1=100
Ans. (b)

A P-N junction consists of two semiconductor
regions with opposite doping type. The left
region is p-type with an acceptor density N,
while the region on the right is n-type with
donor density N

Ans. (b)

There are two types of carries :

1. Majority Carriers

2. Minority Carriers

Ans. (¢

In a bipolar transistor, emitter current is largest

Ans. (b)

MOSFET works in both depletion and
enhancement mode.

Ans. (c)

Among the given options air has highest
resistivity

Resistivity of Mica = 0.9 x 10* Q-m
Resistivity of Paraffin = 1.5 x 10° Q-m
Resistivity of Air = (10° to 10'%) Q-m

Ans. (a)

Power diodes are generally made of silicon
diodes.

Ans. (¢

Depletion region is a region near the P-N
junction where flow of charge carriers is
approximately reduced to zero. under reverse
biased condition because depletion width
increases with increment in reverse bias voltage.



56.
57.

58.

59.

60.

61.

62.

63.
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Mercury arc rectifier is a type of electrical
rectifier used to covnert high voltage or high
current AC into DC. The anode of mercury arc
rectifiers is usually made up of graphite.

Ans. (¢
Ans. (a)

In Mercury arc rectifier, mercury is used as
cathode.

Ans. (b)

When resistance of semiconductor becomes zero
it becomes superconductor.

Ans. (b)

The region of cither sides of junctions becomes
completely depleted of any more free carriers
in comparison to the N and P type material.
This region is called depleting region

Ans. (a)

T-type filter circuit- it consist of a second choke
connected to output side in order to improve
filtering action.

Ans. (¢

Movement of hole is in the opposite direction
to movement of electrons. So if hole has to
move, clectron in valence band has to move in
opposite direction. If a conduction electron has
to move it has to move in forward. Now due to
strong nucleic force, hole experiences a
difficulty in movement as compared to electron.

Ans. (a)

Valence is equal to no of electrons in outermost
shell of an atom.

Si (atomic No = 14)

K=2L=8M=4

In outermost shell it has 4 ¢lectrons so valency
of electron is 4.

Ans. (¢

PN junction diode has a characteristic to pass

current only in one direction. Hence it is a
unilateral device.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

Ans. (b)

Reverse salutatorian current in germanium diode
is of order of 1 micro ampere.

Ans. (d)

PIN diode is used for switching purpose upto
GHz range.

Ans. (¢
In CB configuration output resistance is of
I to 10 Megha ohms

In CE configuration output resistance is low of
50 to 500 kQ and in CC very low output
resistance of 100 to 1000 Q.

Ans. (b)

Ripple factor of a full wave rectifier without
filter is 0.48.

Ans. (b)

Diode is an example of a non-ohmic resistance
while copper, carbon resistance and tungsten
wire have ohmic resistance.

Ans. (b)

Output Impedance of transistor configuration
CE = Moderate
CB = High
CC = Low

Ans. (a)

Schottky diode which is also known as schottky-
barrier diode is a semiconductor diode formed
by the function of a semiconductor with a metal.

Ans. (¢
Extrinsic semiconductor has positive
temperature coefficient while intrinsic

semiconductor has negative temperature
coefficient

Ans. (d)

Conductivity of Silicon is 1.56 x 1073 (s/m)
and germanium is 2.17 (s/m)

Hence conductivity of Ge is highest

Ans. (a)

A tunnel diode is highly doped semiconductor
device which is capable of very fast operation.
It is made up of GaAs.
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74.

75.

76.

77.

78.

79.

80.
81.

82.

83.

84.

85.

Basic Electronics

Ans. (d)

A body containing electron less than its normal
number is said to be positively charged because
when any element looses electron it becomes
positively charge and if elements accepts
electron it becomes negatively charged.

Ans. (¢

At 0°K semiconductor behaves as insulator and
at room temp semiconductor has enough free
electrons to make i1t to conduct current.

Ans. (b)

The flow of clectrons caused by variation in
concentration 1s known as diffusion current.

Ans. (a)
With the increase in temp, flow of electron
increase which result in increase of reverse
current.
Ans. (¢

Doping of tunnel diode is approximately 1000
times higher than a conventional diode.

Ans. (¢
Transistors are analogous to vacuum triode.
Ans. (c)
Ans. (d)

Filter is an electric network which permits
unattentioned transmission of signals

Ans. (d)

Variable capacitor diode or varactor diode is
commonly used for harmonic generation.

Ans. (b)

Ripple factor is a ratio of residual AC
component to DC component of the output
voltage. For a full wave rectifier, ripple factor
is 0.482.

Ans. (b)

Biasing : Process of applying DC voltage across
different terminals of a transistor i.¢. collector,
emitter and base

Ans. (a)

Drift current: Movement of ¢lectron caused by
applying electric field.

86.

87.

88.

89.

90.

91.

92.
93.
94.
9s.

Ans. (¢

In semiconductor, donor element is pentavalent
1.e. it has 5 electrons in its valence orbit.
Ans. (d)

There 1s no flow of current if PIN diode is
connected in reverse biased because in reverse

biased large resistance is offered and hence no
current flow in the circuit.

Ans. (¢

Fast recovery diode is ultra high switching speed
diode.

Ans. (a)

For normal operation, collector base junction is
always connected in reverse based

base
N P N
v oy o
Emitter Collector
1 1
1 T
Ans. (¢
\A Filter = —f———
Curcit

Pulsating output of rectifier is converted into
steady DC level by filter circuit.

Ans. (d)

Type of filters are High pas filter, low pass
filter and band pass filter.

Ans. (d)
Ans. (a)
Ans. (d)
Ans. (c)
Q00O
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Ans. (a)

Tuned circuit consist of inductor and variable
capacitor that are connected parallel to each
other.

Ans. (b)

'Common base' "common collector" and
"common emitter" are types of Configuration
which is done in trasistor to achieve desired
result.

Ans. (b)

On the basis of the Q point on the current
voltage characteristic, transistors are classified
as class A, B, C and AB.

Ans. (¢

In wave clipper circuit, rectifier is used. In
power electronic, motor speed control linearity
charging, phase control. SCR (Silicon controlled
rectifier) is used. Transistors is used as amplifiers
and switches.

Ans. (b)

In order to convert semiconductor into P— type,
a trivalent impurity is to be added

Ans. (a)

Function transistor

Input Output
Impedance | Impedance
Common High Low
Collector
Common Low High
Base
Common | Moderate Moderate
Emitter
Ans. (d)

In P N function diode, P side is more positive
than N side then diode is said to be in forward
biased as while in P N function diode if N side
is more positive than N side then the connection
i1s reverse biased and in reverse biased small
current exists.

10.

11.

12.

13.

14.

15.

Ans. (b)
MOSFET switch in on state acts like a capacitor

Ans. (a)
Zener diode 1s a reverse biased diode
Ans. (d)

In Super conductor large current flows as
resistance of super conductor is zero.

Ans. (¢

FET is a voltage controlled high input
impedance device

Ans. (d)

Potentiometer is used as voltage divider for
measuring electric potential. Potentiometer is
used to control electrical devices.

Ans. (a)

When donor type material is added to
semiconductor is becomes N type material and
clectrons are generated due to this process

Ans. (¢
: I
Dynamic Conductance (g ) = —

Vi

‘Dynamic condcutorance o I‘

Ans. (¢
Maximum efficiency of full wave rectifier is
given by
Vie
Lo P Ry
Pac VTmS
R
v, Y
T
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16.

17.

18.

19

20.

21.

22.
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Ans. (d)

Donor impurity in silicon is antimony

Ans. (c)

JFET is voltage controlled current source while
BJT is current controlled current source.
Ans. (¢

Transistor configuration and voltage gain —

In common emitter voltage gain is medium, In
common collector voltage gain is low.

While in common base voltage gain is high
Ans. (¢

In halfwave rectifier only PN junction diode is
present. In center tap full wave rectifier, two

diodes are present, while in bridge rectifier,
four diodes are present.

_%

DC out

AAAAAA
YYVVVY

ACin

Ans. (d)
np =n?
where np is constant.

For n-type, p is minority career concentration,

o b
P

Hence, concentration of minority carriers in
extrinsic semiconductor under ecuilibrium is
inversely proportional to doping concentration.

Ans. (¢

Current flow in semiconductor is due to drift
and diffusion current.

Ans. (a)

Early effect of base width modulation is

effective decrease in base width with increasing
in base collector voltage.

29.
30.

23.

24.

25.

26.

27.

28.

Ans. (b)
Electron has the greatest, mobility.

Ans. (b)

The mean free path for electron drift decrease
with impurity.

Ans. (b)

In BJT, base is least doped, collector is
moderately doped while emitter is heavily
doped region.

Ans. (b)

Fermi-level represents distribution of charge
carrier in any semiconductor. Concentration of
holes is greater then concentration of electrons
in P-type semiconductor so fermi level will be
near to top of valanced band

= Fermi energy level for
""""""" * P-type semicondcutor

~
Top of valance band
VB

Ans. (d)

In full wave rectifier with two diodes there is
requirement of centre-taped transformer while
in case of bridge rectifier normal transformer is
required.

In case of bridge rectifier four diode. are needed
so peak inverse voltage of each diode will be
less as compare to full wave rectifier with two
diodes.

Ans. (¢

Voltage follower crictui is generally used as
1. Isolater circuit.

2. Buffer circuit

Ans. (d)

Ans. (d)

Earth wires are not part of solar lighting system
because it is a part of the protection of electric
components from electirc surges.



32.

33.

34.
35.

36.

Basic Electronics

Yy 4 ENGINEERS ACADEMY

At absolute zero temperature availablity of free
clectrons will become zero

Ans. (¢
We know that
Drift velocity= mobility x electric field
V,=uE
Where V, = Drift velocity in m/s

pn = Mobility in m*V-sec
E = Electric field in V/m

_Va
)

=2 s ey
—400 = V.0 m7/V-SCC

Ans. (d)

In transistor emitter acts as source of charge
carrier and collector as sink of charge carriers
so if electrons's are entering in to emitter then
they will exit from collector terminal

Ans. (b)

Ans. (a)

Redrawing the circuit for ideal diode
1Q 1Q
AVAVAVAVAVAV L

= = +=
4v - 20V, 220 v =lQ
Ve o 4x1
O 141
V, =2V,
Ans. (d)
-2
t

5%10"° x1.65x107"
80

0.1 mA

37.
38.

39.

40.

41.

42.

43.

44.

Ans. (a)
Ans. (b)

The electrodes of a semiconductor diode are
known as anode and cathode.

Ans. (a)

A semiconductor device called light emitting
diode (LED) produces different colors
depending upon its chemical composition when
active in a circuit.

Ans. (a)

A trasistor (or any electronic component) can
be destroyed in a circuit by excessive heat (that
can be due to very high current).

Ans. (d)

FETs are classified N — channel FET & P -
channel FET on the basis of charge carriers.
Ans. (d)

To convert AC into DC, we need to block one
half of AC supply. The diode conducts only for
one direction of electric current.

Ans. (b)

Zener diode in the electronic circuit can be
used as a voltage regulator. it provides a constant
voltage to the load from a source

whose voltage may vary over a sufficient range.
Ans. (a)

A vacuum tube uses a very high voltages to
operate.
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